Probability: Methods and Measurement — Corrigenda

Page and line

109, line 2

118, Table 5.17

148, line 5

218, 3 lines above (8.31)
266, first line of 2(e)4
268, 4(b)6

268, 4(c)3

271, 5(b)3
271, 5(b)4

272, 5(b)4

275, first line of 6(c)2
278, second line of 7(b)4

Correction

“5.25” should be “5.15”

“43” should be “40”

Equation should be labelled “(6.26)"

“The” should be “(The”

Second “G;” should be “G,”

“squares” should be “spaces”

Solution only gives probability of 6; for
probability of 6 or more add two more terms;
solution is 0.678.

The final row of figures should read 0.1186,
0.4612,0.4212.

The answer should be 0.083 x 0.05263/0.1186 =
0.0368.

Continuing the last two corrections, the figures
for the final distribution should read 0, O, O,
0.003, 0.015, 0.037, 0.066, 0.097, 0.129, 0.145,
0.126,0.107, 0.098, 0.078, 0.045, 0.053.
“5(c)2” should be “5(c)3”

“(d)” should be “(b)”



